Adam Szczegielniak
Introduction to Syntax

X-bar

Terminal nodes categories

a. The-determiner (D) = A3
b. cat-Noun (N)=B3
c. likes-Verb (V)= A2
d. salty - Adjective (A) = Al
e. fish-Noun (N)=B1
E2
C3=D2 Cc2
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X-bar
e An algorithm to establish the relations in a
graph
e X-bar applies to every category because we
treat X as a variable. In other words, X stands
for:N,V, A, Ad, P,D, T, C, Deg., Conj
e X bar constrains the number of structural

relationships that are allowed in human
languages.

X- bar

XP= A phrase, called a
maximal projection of
X. In rare cases more
than one

X’= X-bar, called inter-
madiate projection of
X, can be more than
one

X= called head of XP.
Never more than one.




Principles of X-bar

« A Each X projects an XP of the category that X has.

* B. For any X projecting an XP, you can attach a full phrase YP once (binary
branching) to any X’ or XP node.
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YP Specifier of XP,
outer argument

X’ WP WP modifier of X’

7P ¥

ZP modifier of X’ N
% p KP complement of X,

inner argument

One head

* Otherwise we cannot compute the labels of the phrase
* Endocentricity

? This is bad
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Recursion

* We only attach maximal projection, but they can contain other maximal
projections
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No crossing of branches

* Same structural relations different orders
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Directions in a tree

A UP XP<——— Top of the tree

K
| I % 7P
W R ’
I Terminal nodes
w
vA Right

>

Structural realtions

e Dominance

A node [A] dominates a node [B] if and only if
[A] is higher up in the tree and you can trace a
line from [A] to [B] without going upwards.

* Immediate Dominance

A node [A] immediately dominates node [B] if
and only if [A] dominates [B] and there is no
other node [C] that dominates [B] and is also
dominated by [A]
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Dominance

4 UP XP¥—___

Dominates every node
in the tree

KP Immediately Dominates
l I nodes KP and X’

X'<«——— Dominates nodes:
X,ZP 7 Z

WP g Immediately domi-
‘ X<« ZP nates nodes:
) X and ZP

w R ‘
I Terminal nodes do
W not dominate

Z Right

>
Constituent

* Constituent

* Take a set C consisting of a string of nodes
C={B,C,D,E} if and only if there is a Node A that
dominates every member of C and there is no
node F that is dominated by A but does not
belong to C, then Cis a constituent with an
assigned value of A.
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A UP

Not a Constitug
WP dominates
C={W’, W} but d
dominate K

nt

oes not

Constituents

Not aConstituent
XP dominates
XP C={X’ X, X ZP, Z’, Z} But

there are other nodes

that XP dominates not
KP < in C.Namely: KP, K, K’
I I K, WP, W’, W.
X

].\ Constituent X'

X P X’ dominates

C={X,ZP, Z’, Z} there is
not other node that X’
dominates

AN
~ — =

— N

N oe——oN

Right

>

Sisterhood

* Node A and B are sisters if they have one node
(mother) immediately dominating them.
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